P s

N

X

Ei
45,508F M 2.4% [ TR ]
r 19
— IR i L i 1,?\ 29357H
793,825F 9
. 41.7% -
SEBREAN - 2 e
MO TARBRI T, BREADERELEE e 5543 27,033 5H
RERIRRINA FLHEDIHDIHTT,
1,565,003FF
BRI 82.2% RBEIE cumcmomzennzoiavtas |
23.829FM 1.3%
infd= RIRRE EE 55t
N, e | | mems | smx | s |
817+ 0.0% 48.1% I f2ERIRER CWA”) 5.0% 8.7%
1= A X .
SEEg 25 s S Z 4 3
Y00t 01% AR EERRON: XABIHORHTT, 1.05% | 1.05% | 21%
HICHI5E = H (Riesus
AR LThEY 98,505F M 5.2%
250,000FF3 13.1% || | > ' MR B IRRIAS () 2022 FEEFE A 20224 28 288 DEERICH N TITRINE Urzo
B iggﬂggﬁ?fﬁ%f%@ 20225 (3. EBAME T AN EMAREBSEHNERBRED = LT (1.76%=2.1%)
40,708 2.1% A2 O ETVET RERBHECOVTEESESUE R Ao
TTEEIERA = 1287 01%
20,972FM 1.1% = zmm - .
T 5 Bx @, R _AE 7D e®”r @rEH @ (L
—24.611FM 1.3% ?%i"g a'.) %%%%%ggg%ggmgéﬁg 0{%:}%%%
N » P 5 IR Ez piy <o B
690,217/ | ﬁasﬁsfi WwW2LoRfftt=@c28nilHiE L@iﬁéﬁf{
. A R G F2T>5kR Nx Il BFBNRI Barrk b
RERIEE nfrsE é?ﬂbﬁﬁi T E L 5 4 iajﬁﬁj_._)\% 6 5 @ & |y
287,931/ 332,072/ 7 = & Wy TEF 0 S LUEACILIER 5 s |y
1 w2 B ERCRE - < € TEU0A O A
B = 4 °E 8 el & T 0 B I
RIEBEE FDAth D 3 = ’ =+ }E 7= % V) (& E *4 A
35,729 34,486 % £ (/u ? % L% 5 é 1; % A 0
= (Z 8 , 2 E
F L5 3 5 0 5 % n % g
4 FEOEBKIE ® WIRIBEEY 2,757 N\ © S 43.68m% L4 H b3l = B 9 W + ,ﬁ:ﬁ_ iz 2 A
o ISIEERMEE 408,000/ o HER 086\ F O 2 R =g 7 K Bz L 0 %%
(—HREE) ofIBENSE  4794423TF o RIISISENAR 2.26% 5 E - n % R £ 2
e T i ' ® B & [ = x B8 [ & Z L) L 2 < |
P 1 6 = TR IBOEE e 200, 2,00 8
FEeENFLUERFRERS >FFEFFEEXR2FTOREIE L 218
6{90)@‘(¢‘£65%@%§7t\@;(:@0 L& 20U 0
RERRES TIHREIRIC [N S2a < j% g,g é D T 734 Ig iﬁf} L ;5 % 2 % i ;_;f i £ 2 s
KDV 40ELLEDADN 5 S% BT g cEmEdE LR ®R8E [EARKES
REBEHRL N B S gresmgofdz EZ BER TR A
LB TOET . S ) ) XPRrLEIETE M BLS ik L
N NEHRRIA NS ST 87 TU O&5 8 & = N
DEMNICHE>TNHEMLAED 260,325F 237,700 . g B om@me 8 Sl g % 1(@ ?H%g B 8 N 9 T
. o =N E = TN TS f (i 3 = L)
LT AR BTRE 50;5 » P ﬁ; : * 295 2B ¢ 2 Ny 3,% ?‘}% 3 £
[32.7/8MEREU, —REER = a2 5 2 3
mrRes 10000F 20,972F 13 ERAYE B2 22 mEE &R 5oc
HERA FEB-ZDM ERN R BN g2 D 9 = V=7 - 8] D 23]
TFA— 11— —— 11.605FM@ TH T %2 5 #MaF & A B o = A < =



